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A rectangular paper of width 8 cm and length 22 cm rolled along its width and a

cylinder is formed.
(A)Find the radius of the cylinder.
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A rectangular paper of width 8 cm and length 22 cm rolled along its width and a

cylinder is formed.

(B) The volume of cylinder is:
8 THT TTSTS 3T 22 AHY TS T Ueh ATAATRR RIS & FHhT TTSTS h ATUET

AT TSk T SHTET T 2
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h=§
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K= 2
v =

A)98 cm’
B)49 cm’
C)497T cm®
D)98TT cm?
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A rectangular paper of width 8 cm and length 22 cm rolled along it width and a cylinder

is formed.
(C) If the outer surface area of cylinder is painte a@ then the total cost of
painting is-

8 THT TIST3 3TN 22 HT TATg T Teh FTAATHT HITST 2 FHK! AISTS o AU TATH Teh

AAT FATAT TAT 2 CUET EXAM 2022
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— -3 C)Rs. 78.5
~ (. Vo —
?%n;- < D)Rs. 97.5
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In the given figure ABCD 1s a
rhombus .Find the value of x .
&t 718 3ATRId H ABCD U
FHTAHS &l x 31 HH J1d IS
CUET EXAM 2022
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Match the list I with the II. Choose the correct answer from the options given below:

Tl 13T 11 | GHTTT shiTS) el 4T T forshedi § | G-l ST T <19 i |

cluion
(Equations) (Solutions)

CUET EXAM 2022

a) A-II, B-1V, C-III, D-1

) 2
b) A-I, B-III, C-1V, D-II
S e o e

¢) A-II, B-III, C-1V, D-1
d) A-IL, B-I, C-1V, D-III
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In the given figure 1 // m // n, Find the value of x.

. . CUET EXAM 2022
MG AR HL/ m //n , x T A J1d
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Find the value of (25)°+(-29)> +(4)°.

(25)3+(-29)3 +(4)3 sﬁrmm?ﬁ?/_\
| — (25 —243809 6= 7 CUET EXAM 2022

| SCEg— 24345

e A)0
M B)8700
\__e)8700

D)-2900
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Find the value of (12)*+(9)> +(4)". 5.
(12)*+(9)* +(4)* T AT T hITSTY| @2

ST 0B

B)720

'>€)617
)800
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Find the value of \/1225 — V625 =?
V1225 — /625 =2 1 4 F1d HINT |

CUET EXAM 2022

S$—2°%

10

B)20
C)25
D)15
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If the area and sum of parallel side of a trapezium are 48 cm” and 48 cm

respectively. Then the distance between the parallel sides is-

afe Teh AT AT chl FHIT TATAT T FTH AR TN SHA: 48 AH? 3T 48 A 7 |
o TR TS RS R R

, ] \
7 T I
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o AT A\ A)l cm
fr= ZQ"‘J“'QXE A \“ﬁcm

%: Jigy@)@% C)1.5 cm

21‘/\ D)3 cm
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Calculate the area of a rhombus having diagonals equal to 6 cm and 8 cm.

6 THT AR 8 WHT o TR TrehUT STt AHTATHS o AT chl TUMT 6l

)4\& CUET EXAM 2022
Nz
o/ ( 2< 0/)
Z/% Xy V%mz
= ) 24 cm?
B 7 C)36 cm?

D)32 cm?
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If 36 persons can finish 50% of work in 12 days In how many days 72 person can finish

the complete work?

afe 36 AT 50% HTA <Rt 12 FoAT 7 THTH R T § A1 72 <k 3H R i feha feAT o

ORT ST el 57
i/l 1Dy @_ [jz—pz o CUET EXAM 2022
W) Ly 2

3 S x |2 7Z>< D A)48 days
K_L, 1 B) 24 days
C)36 days

112 = =2, D72 days
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If 24 persons can finish a work in 20 days . In how many days 30 person can finish the

complete work?

afe 24 safvs ueh & Rt 20 AT U TUTH T TR B AT 30 SRR ST T ot foha fei o

URT T TR &2 My XD = M Dy
QU XQo = DX of 2 PRACTICE EXAM 2022

28X 2
Y o K16 days
B) 14 days
()26 days
D)12 days
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A shopkeeper offers discount 50%+ 50% on a shirt of MRP Rs. 800. Find the selling

price of the shirt.
Teh SehTa 800 waﬁﬁrwaﬁmﬁmg% 00/ D oAT g ShHTST T forshar

n—qmaﬁﬁml
— S/ v CUET EXAM 2022
SNy D
A)Rs. 400

B)Rs. 500

\__C)Rs200

D)Rs. 600
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A shopkeeper sold a shirt for Rs. 720 after two successive discount of 20%+ 10% on.

Find the maximum retail price of the shirt.

WW%@+ 0%%)hT TITAR &1 B o o1g 720 TUY | ek ] Tl I1E h

—]
aﬁwwu—? ' ® sp

5» x
\__AJRs. 1000

TS I3¢=72  Sum
ST

D)Rs. 750
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Find the value of = =%
YO 2 72527 x2.2+(2.2)?

L3
qg — b
CUET EXAM 2022
2 . —thlo +~L>
S o [ N @
o
C)4.9

D)7.5
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Find the value of (m

(3.7)2-3.7 x3.2+(3.2)"

3
O(?)—I' 2 PRACTICE QUESTION
Z —
q— ab+b—

0{544:): QqL— ab -\-9 469

B)0.5
C) 4.9
D)7.5




If the volume of a cube is 27¢m?, then the diagonal of
cube is.

IJTe Teh 9 ol 3«||<4d/ 3 @, 1 T R Tl 2
] D=a I3 PRACTICE QUESTION
/ — 353
/
V= q = 27F p]f)/3\/3 UL
=3 2) 6/3 cm
3)9 V3cm

4) 6cm



following questions.
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Find the area of A ABF.
A ABF =71 5% 31d Shifsg|




following questions.
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Find the area of trapezium DGCE.

TAAT DGCE T 5% T hITSTU)

5 m E
1) 100 m? 2) 260 m?
3) 70 m? 4) 130 m?



following questions.
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Find the area of A AFC.
A AF C % 5%« J1d shifsg)

|

1) 120 m? 2) 75 m?
3) 250 m? 4) 125 m?






